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QUESTION 1

Given the following statements: 

What will be the result? 

A. Joe Smith 

B. Joe Smith 

C. Joe Smith>DB2 

D. Joe Smith 

Correct Answer: B 

 

QUESTION 2

Given an EMPLOYEES table and a SALES table, a user wants to produce a list of all employees and their associated
revenue, even if no revenue exists. Which SQL statement will produce the desired list? 

A. SELECT employees.name, sales.revenue FROM employees INNER JOIN sales ON employees.id = sales.emp_id 

B. SELECT employees.name, sales.revenue FROM employees INNER JOIN sales ON sales.emp_id = employees.id 

C. SELECT employees.name, sales.revenue FROM sales LEFT OUTER JOIN employees ON employees.id =
sales.emp_id 

D. SELECT employees.name, sales.revenue FROM sales RIGHT OUTER JOIN employees ON employees.id =
sales.emp_id 

Correct Answer: D 
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QUESTION 3

When a COMMIT statement is executed, what happens? 

A. All locks held on the database are automatically released. 

B. Data stored in global temporary tables is automatically deleted. 

C. Open cursors defined WITH HOLD are closed, but their data is retained. 

D. The current transaction is terminated and a new transaction boundary is started. 

Correct Answer: D 

 

QUESTION 4

If the following result set is desired: 

Which SQL statement must be executed? 

A. SELECT lastname, firstnme, salary, job FROM employee ORDER BY 3 FETCH FIRST 5 ROWS ONLY 

B. SELECT lastname, firstnme, salary, job FROM employee ORDER BY 3 DESC FETCH FIRST 5 ROWS ONLY 

C. SELECT lastname, firstnme, salary, job FROM employee ORDER BY 3 FETCH FIRST 5 ROWS 

D. SELECT lastname, firstnme, salary, job FROM employee ORDER BY 3 DESC FETCH FIRST 5 ROWS 

Correct Answer: B 

 

QUESTION 5

Which object can a buffer pool be assigned to? 

A. Schema 

B. Table space 

C. Storage group 

D. Stored procedure 

Correct Answer: B 
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